ACADEMY COLLEGE FACULTY

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

THE FACULTY OF ACADEMY COLLEGE...

consists of respected professionals from the public and private sectors. Their education and substantial experience as accountants, attorneys, pilots, network administrators, and business professionals, coincides with all of Academy College's academic offerings. Our students have the distinct advantage of acquiring not only a theoretical but a practical education, which is relevant in their chosen fields.

AVIATION

Elias Andrews, B.S., Aviation Management, Florida State Technical College; Jeppesen Academy; Aircraft Dispatcher

Donald Brown, Hamline University, Instructor FAA Safety Inspector

James Gaasedelen, DDS (Doctor of Dental Surgery), University of Minnesota; CFI; CFII; MEI; AGI; IGI

Michael Heath, B.S., Embry Riddle University; AAS, Academy College; CFI; CFII

Thomas Koen, B.S., Academy College, CFI; CFII

Patrick Lawler, M.S. Embry Riddle University; CFI; ATP

Frederick Nauer M.A.E., Middle State University; B.S., University of Minnesota; CFI; CFII; MEI

John O'Neill, M.B.A., B.A., Metropolitan State University

Chris Steer, B.A., Russian Area Studies/Music Minor, St Olaf College; Aircraft Dispatcher, Academy College

Emily Wright, B.S., Biological Sciences and Psychology, Virginia Polytechnic Institute and State University, CFI; CFII

Matthew Zelenka, B.S., Commercial Aviation, Academy College, CFI; CFII

FLIGHT INSTRUCTORS

Anthony Allee CFI; CFII

Aaron Avila, CFI; CFII

Matthew Beasley CFI; CFII; MEI

Anthony Bradjord, CFI; CFII

John Clough, CFI; CFII: MEI

Casey Decker, CFI: CFII

Alex Dietrich, CFI; CFII

Evan Ekstrand, CFI

Nicolas Holmes, CFI; CFII

Mark Mihalovic, CFI; CFII. MEI

Frederick Nauer, CFI: CFII; MEI

Reed Olson CFI; CFII; MEI

Kierra Robinson CFI; CFII; MEI

Chad Savard CFI; CFII; MEI

Marc Sombke CFI; CFII; MEI

Jordan Smith, CFI: CFII

Clifford Steer, CFI; CFII

Shuo Wang, CFI: CFII

Matthew Zelenka CFI; CFII

BUSINESS

Elias Andrews, B.S., Aviation Management, Florida State Technical College; Jeppesen Academy; Aircraft Dispatcher

Matt Hustad, M.B.A., University of St. Thomas; B.A., Winona State University

GENERAL EDUCATION

Timothy Paul Blaeser, Ph.D., Adult Education, Concordia University; M.A., Curriculum and Instruction, DeVry Keller, B.S., Industrial Engineering; University of Minnesota

Tasia Islam, M.A., University of St. Thomas; B.A., Winona State University

Amber McCollow, M.A., Public Administration, Walden University; B.S., Health Care Management; AAS Business Admnistration, Minnesota School of Business

Jessica Staricka, M.A., Creative Writing, University of New Orleans; B.A., English, University of Mankato



ACADEMY COLLEGE STAFF

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

ADMINISTRATION

Alicia Olson-Strilzuk	Campus Director
Jessica Staricka	Front Desk Administrator
Lauren Leverty	Student Services
Brooke Kelly	Financial Aid Representative
Christofer Randahl	Financial Aid Representative

EDUCATION

Andrea Santos	Education Coordinator
Emily Wright	Aviation Coordinator
Andrea Santos	$\dots Interim\ Aircraft\ and\ Maintenance\ Program\ Coordinator$
Elias Andrews	Aviation Business/Dispatch Program Coordinator
Andrea Santos	$\dots \ \text{Interim Accounting and Business Program Coordinator}$
Jarod Olson	Product Development
Elise Moonen	Librarian

CONTACT INFORMATION

Main Office Phone	952-851-0066
Main Office Fax	952-851-0094
Admissions Department Email	Admissions@academycollege.edu
Attendance	attendance@academycollege.edu
Financial Aid Department Email	FinAid@academycollege.edu
Student Services Department Email	$\dots \dots \dots Student Services @acade my college. edu$
Career Services	Careerservices@academycollege.edu
Student Services	$\dots \dots \dots S tudent Services @ a cade my college. edu$
Library Services	Librarian@academycollege.edu



ACADEMY COLLEGE TUITION & FEES

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

Tuition

Tuition for a quarter is based on the number of credit hours a student takes per quarter as documented below:

CREDIT HOURS PER QUARTER	CREDIT HOUR RATE
1-11	\$ 470.00
12 and up	\$ 380.00

Tuition is billed quarterly and payable in advance of the start of each quarter. If payment of tuition and fees has not been made, or other payment arrangements agreed upon, Academy College may remove the student from the course or courses that are not paid.

Academy College reserves the right to revise tuition. The catalog is the complete statement of all terms and conditions of a student's contract with Academy College.

AVIATION FLIGHT LAB FEES ARE INCLUDED IN ACADEMIC COURSE TUITION

These fees are determined on an hourly basis for aircraft and flight instruction. Supplies and pilot kit fees are charged in addition to academic course tuition, fees, and textbooks. The current Aviation Flight Lab fees are listed on pages A-5 and A-6. Students enrolling in an Aviation Flight Lab must have the amount of the Aviation Flight Lab Fees on account at Thunderbird Aviation (Flying Cloud and Crystal locations) and/or Academy College, or combination of both before they will be allowed to register for that Aviation Flight Lab. If the student uses all of these funds before they complete the Aviation Flight Lab in that quarter, they will need to deposit an added amount equivalent to the estimated flight costs to complete the Aviation Flight Lab.

FAA MEDICAL EXAM

FAA medical exams are an additional expense.

AIRCRAFT DISPATCHER TUITION

Half of tuition is due 4 weeks before the quarter start date, and the remaining balance of tuition is due one week before the start of class along with exam fees and books/supplies.

Resident Tuition and Books:	\$4990.00
CPE Tuition and Books:	\$2990.00
Exam Fee FAA Written:**	\$225.00
Exam Fee FAA Practical:**	\$600.00

^{**} All FAA exam fees are subject to change

FEES

APPLICATION FEE

A \$40.00 non-refundable application fee must accompany the completed Application form for Admission.

The application fee is waived for the following applicants:

- Military professionals
- Graduated and withdrawn students who are re-entering within one year from the last date of attendance
- Cancelled students who re-enter within one year of original payment date.

COURSE CHANGE FEE

A course change fee of \$50.00 will be charged to all courses deleted, dropped, and/or added after the first week of the quarter. The fee will not be charged for schedule changes requested by the college.

DIPLOMA FEE REPLACEMENT

There is a \$10.00 fee that must be paid at the time of request. All student balances must be paid in full. There is a \$10.00 fee for each additional diploma that must be paid at time of request.

LATE PAYMENT FEL

A \$25.00 late fee may be charged when tuition is paid after the first week of classes and on the first day of every month (30 days) thereafter until paid in full.

LOGBOOK AUDIT FEE

There is a \$105.00 fee charged to pilots planning to transfer in flight hours to meet either FAR61 or FAR141 requirements.

VOLO FLIGHT APP FEE

Aviation students are assessed a fee of \$50.00 per each flight class for use of the Volo Flight App for flight training at Thunderbird Aviation.

NEW: FLIGHT INCOMPLETE (FI) EXTENSION:

Aviation students are assessed a fee of \$250.00 for the approval and granting of any Flight Incomplete (FI) Extension.

DPE FEE:

There is a \$25.00 processing fee charged to student for all DPE check requests.

Fees (cont'd on next page)



ACADEMY COLLEGE TUITION & FEES

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

FEES (CONT'D)

REPEAT TRAINING

Tuition will be charged for courses repeated, for any reason, to complete the selected program. Tuition will be the current credit hour rate.

STUDENT ACTIVITY FEE

Students will be charged a \$280.00 one time student activity fee for field trips in their courses, graduation diploma, cap and gown, ceremony, and reception.

TECHNOLOGY FEE

A \$40.00 technology fee will be charged to the student's account on a quarterly basis. This fee will be used to improve technology throughout Academy College ensuring continuous improvements in instructional delivery and student support services.

TERMINATION FEE

A \$100 termination fee will be charged to the student's account if a student withdraws or is dismissed from a program.

TRANSCRIPT REQUEST

There is a \$20 fee that must be paid at the time of request. All student balances must be paid in full.

TUTORING FEE

There is a \$50.00 per hour fee for tutoring outside of posted lab hours.

VA COE POLICY

Academy College helps veteran students and their families with their educational and VA-related needs. Certifying officials act as the link between students and the Department of Veterans Affairs. We understand that the transition from military to college life can be difficult and are committed to providing the best possible care in appreciation for your sacrifice and service.

For all VA educational and training benefits, applicants will need to apply for benefits and provide a copy of the Certificate of Eligibility (COE) they receive from the Department of Veterans Affairs the Financial Aid Department. The Certificate of Eligibility (COE), received from the VA, is the document the College uses to verify your eligibility to use VA educational benefits. We recommend applying as early as possible as this process could take about 4-6 weeks. The COE arrives by mail, but you can also access it online.

Pursuant to 38 U.S.C. Section 3679€, Veterans with a valid Certificate of Eligibility on file will be allowed to attend and not be given penalties in the case of the VA not being able to make timely payment to the College.



ACADEMY COLLEGE FLIGHT LAB FEES*

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

HOURLY RENTAL RATES

PA28 (Warrior) \$165.00	PA44 (Seminole) \$360.00
C172 \$180.00	PA28 (Arrow) \$195.00
PA28 (Archer) \$180.00	

PRIVATE PILOT FLIGHT TRAINING 1

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	9	\$90.00	\$810.00
Aircraft (C172)	9	\$180.00	\$1,620.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (C172)	.5	\$180.00	\$90.00
BRIEFING			
Instruction	N/A	N/A	\$0.00
CHECK RIDE			
Aircraft Rental (C172)	N/A	N/A	\$0.00
Examiner Fee	N/A	N/A	\$0.00
		TOTAL	\$2,520.00

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

INSTRUMENT FLIGHT TRAINING 1

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	26.5	\$105.00	\$2,782.50
Aircraft (C172)	26.5	\$180.00	\$4,770.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (C172)	N/A	N/A	\$0.00
BRIEFING			
Instruction	14	\$105.00	\$1,400.00
CHECK RIDE			
Aircraft Rental (C172)	N/A	N/A	\$0.00
Examiner Fee	N/A	N/A	\$0.00
		TOTAL	\$9,022.50

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

*Students may require additional hours to pass flight labs

HOURLY INSTRUCTION RATES

Flight & Ground Instruction—Primary\$9	0.00
Flight & Ground Instruction—Advanced	5.00
Flight & Ground Instruction—Multi-Engine	0.00

PRIVATE PILOT FLIGHT TRAINING 2

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15	\$90.00	\$1,350.00
Aircraft (C172)	15	\$180.00	\$2,700.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (C172)	10.5	\$180.00	\$1,890.00
BRIEFING			
Instruction	N/A	N/A	\$0.00
CHECK RIDE			
Aircraft Rental (C172)	2	\$180.00	\$360.00
Examiner Fee	N/A	\$720.00	\$720.00
		TOTAL	\$7,020.00

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

INSTRUMENT FLIGHT TRAINING 2

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	18.5	\$105.00	\$1,942.50
Aircraft (C172)	18.5	\$180.00	\$3,330.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (C172)	N/A	N/A	\$0.00
BRIEFING			
Instruction	8	\$105.00	\$840.00
CHECK RIDE			
Aircraft Rental (C172)	1.5	\$180.00	\$270.00
Examiner Fee	N/A	\$720.00	\$720.00
		TOTAL	\$7,102,50

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.



ACADEMY COLLEGE FLIGHT LAB FEES*

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

HOURLY RENTAL RATES

PA28 (Warrior) \$165.00	PA44 (Seminole) \$360.00
C172 \$180.00	PA28 (Arrow) \$195.00
PA28 (Archer) \$180.00	

COMMERCIAL FLIGHT TRAINING 1

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	13	\$105.00	\$1300.00
Aircraft (Arrow)	13	\$195.00	\$2,535.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Arrow)	40	\$195.00	\$7,800.00
BRIEFING			
Instruction	5	\$105.00	\$525.00
CHECK RIDE			
Aircraft (Arrow)	N/A	N/A	\$0.00
Examiner Fee	N/A	N/A	\$0.00
		TOTAL	\$2,225.00

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

COMMERCIAL FLIGHT TRAINING 3

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	22	\$105.00	\$2,310.00
Aircraft (Arrow)	22	\$195.00	\$4,290.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Arrow)	16	\$195.00	\$3,120.00
BRIEFING			
Instruction	9	\$105.00	\$945.00
CHECK RIDE			
Aircraft Rental (Arrow)	1.5	\$195.00	\$292.50
Examiner Fee	N/A	\$720.00	\$720.00
		TOTAL	\$11,677.50

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

HOURLY INSTRUCTION RATES

Flight & Ground Instruction—Primary\$90.0	00
Flight & Ground Instruction—Advanced\$105.0	00
Flight & Ground Instruction—Multi-Engine\$110.0	00

COMMERCIAL FLIGHT TRAINING 2

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	20	\$105.00	\$2,100.00
Aircraft (Arrow)	20	\$195.00	\$3,900.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Arrow)	9	\$195.00	\$1,755.00
BRIEFING			
Instruction	8	\$105.00	\$840.00
CHECK RIDE			
Aircraft (Arrow)	N/A	N/A	\$0.00
Examiner Fee	N/A	N/A	\$0.00
		TOTAL	\$8,595.00

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the C172 for both the Dual Flight and Solo Flight portions of the course.

MULTI-ENGINE GROUND/FLIGHT TRAINING

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15	\$110.00	\$1,650.00
Aircraft (Seminole)	15	\$360.00	\$5,400.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Seminole)	N/A	N/A	\$0.00
BRIEFING			
Instruction	15	\$110.00	\$1650.00
CHECK RIDE			
Aircraft Rental (Seminole)	1.5	\$360.00	\$540.00
Examiner Fee	N/A	\$1440.00	\$1440.00
		TOTAL	\$10,680.00

Substitution of Aircraft:

There is no substitution of aircraft for this course.

*Students may require additional hours to pass flight labs



ACADEMY COLLEGE FLIGHT LAB FEES*

Addendum to Catalog #33; 2024–2026 | Summer 2024 Quarter | Effective July 8, 2024

HOURLY RENTAL RATES

PA28 (Warrior)	\$165.00	PA44 (Seminole)	\$360.00
C172	\$180.00	PA28 (Arrow)	\$195.00
PA28 (Archer)	\$180.00		

Single Engine Instructor Ground/ Flight Training

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	25	\$105.00	\$2,625.00
Aircraft (Arrow)	25	\$195.00	\$4,875.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Arrow)	N/A	N/A	\$0.00
CHECK RIDE			
Aircraft (Arrow)	1.5	\$195.00	\$292.50
Examiner Fee	N/A	\$1,440.00	\$1,440.00
		TOTAL	\$9,232.50

Substitution of Aircraft:

When appropriate, the Piper Archer, Piper Warrior, and C172 may be substituted for the Piper Arrow for the Dual Flight portion of the course.

Multi-Engine Instructor Ground/ Flight Training

MEI PART 141	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	25	\$110.00	\$9,000.00
Aircraft (Seminole)	25	\$360.00	\$8625.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Seminole)	N/A	N/A	\$0.00
BRIEFING			
Instruction	20	\$110.00	\$2200.00
CHECK RIDE			
Aircraft Rental (Seminole)	1.5	\$360.00	\$540.50
Examiner Fee	N/A	\$720.00	\$720.00
		TOTAL	\$15,210.00

Substitution of Aircraft:

There is no substitution of aircraft for this course.

*Students may require additional hours to pass flight labs

HOURLY INSTRUCTION RATES

Flight & Ground Instruction—Primary\$90.0	00
Flight & Ground Instruction—Advanced\$105.0	00
Flight & Ground Instruction—Multi-Engine\$110.0	00

Instrument Instructor Ground/ Flight Training

	HOURS	HOURLY RATE	TOTAL
DUAL FLIGHT			
Instruction	15	\$105.00	\$1,575.00
Aircraft (Cessna)	15	\$180.00	\$2,700.00
SOLO FLIGHT			
Instruction	N/A	N/A	\$0.00
Aircraft (Cessna)	N/A	N/A	\$0.00
BRIEFING			
Instruction	15	\$105.00	\$1,500.00
CHECK RIDE			
Aircraft (Cessna)	1.5	\$180.00	\$270.00
Examiner Fee	N/A	\$720.00	\$720.00
		TOTAL	\$6,840.00

Substitution of Aircraft:

When appropriate, the Piper Archer and Piper Warrior may be substituted for the Piper Arrow for the Dual Flight portion of the course.

